MS01%& %

AVENTICS™  AVENTICS MS01 RFISzh{uE Y A

~
R EMERSON.



AVENTICS MS01 RFISzh{L & 15 12 1% R85 2
2024-02-23

MS013& 5%

LR MS01 RIS BLILERES , (EAEERRTE CDO1 RITREERNBRAR , FEERETHAMMIERE.
XEWREAFNEEMZEIEER)D, ZNERETUREE T RAELNERN KRS HFIRSUEZEFNEBFIERLE, X
WHERERRE , 4 1SO 1 15407-1 ¥R,

BB MS01
I4ED 4 bar... 10 bar

EMERSON.



AVENTICS MS01 R5ISzh1y B Y518 BE 3
2024-02-23

MS01%5%l

ISO 15407-1
EZVEHPS
cH®

G 1/4

G 1/8

BHzES T H TE A RIHE EAR
S R2 BE KAV BE KAV
[mm] [mm]

1x G 1/4 G1/8 @ 6x1 G1/8 0.01 0.3 3354418750
2x G 1/4 G1/8 @ 6x1 G1/8 0.01 0.3 3354418740
3x G 1/4 G 1/8 @ 6x1 G1/8 0.01 0.3 3354418730
4x G 1/4 G1/8 @ 6x1 G1/8 0.01 0.3 3354418720
5x G1/4 G1/8 @ 6x1 G1/8 0.01 0.3 3354418710
6x G 1/4 G 1/8 @ 6x1 G1/8 0.01 0.3 3354418700
7x G 1/4 G1/8 @ 6x1 G1/8 0.01 0.3 R412011208
8x G1/4 G1/8 @ 6x1 G1/8 0.01 0.3 R412011209

EMERSON.



AVENTICS MS01 R5ISzh1y B Y518 BE 4
2024-02-23

32 9 4
D) A
\ . @55
B\ _ ﬁ}
\\ N = 1
@ _ [
65 [\, K )| &
L rhl
?_’ 5 5 &'ﬂ" :—' 5.1 ‘
0 | i F— i iy 0
' el L N Gla ;
00 o |9LL°* |
— O poeR ‘ O PoweR_J
(G =r =%
1 M \[= - an 1
(| : {1V
=1=‘ | E'= | %l—jﬂl 2|6
5- ! | 1T e
‘ | |

D =FRE(BERS)
M12 A4k A1 : 24V DC 2 © #H{ES24 V DC, S1 (IB4TEH) , &A100 mA A3 : 0V filM4 - #HES 24V DC, S2 (B A) , HA100 mA fiksa5 : FE

&
EMERSON.



AVENTICS MS01 R3IRzhfu &Y 215 Biar 5
2024-02-23

MS01%5%l

ISO 15407-1
EZVEHPS
cH®

G 3/8

G 1/8

BHzES T H TE A RIHE EAR
S R2 BE KAV BE KAV
[mm] [mm]

1x G 3/8 G1/8 G1/4 G1/8 0.01 0.3 R412011175
2x G 3/8 G1/8 G1/4 G1/8 0.01 0.3 R412011176
3x G 3/8 G 1/8 G 1/4 G1/8 0.01 0.3 R412011177
4x G 3/8 G1/8 G 1/4 G1/8 0.01 0.3 R412011178
5x G 3/8 G1/8 G1/4 G1/8 0.01 0.3 R412011179
6x G 3/8 G 1/8 G 1/4 G1/8 0.01 0.3 R412011180
7x G 3/8 G1/8 G 1/4 G1/8 0.01 0.3 R412011181
8x G 3/8 G1/8 G1/4 G1/8 0.01 0.3 R412011182
1x 3/8 NPT 1/8 NPT 1/4 NPT 1/8 NPT 0.01 0.3 R412011183
2x 3/8 NPT 1/8 NPT 1/4 NPT 1/8 NPT 0.01 0.3 R412011184
3x 3/8 NPT 1/8 NPT 1/4 NPT 1/8 NPT 0.01 0.3 R412011185
4x 3/8 NPT 1/8 NPT 1/4 NPT 1/8 NPT 0.01 0.3 R412011186
5x 3/8 NPT 1/8 NPT 1/4 NPT 1/8 NPT 0.01 0.3 R412011187
6x 3/8 NPT 1/8 NPT 1/4 NPT 1/8 NPT 0.01 0.3 R412011188
7x 3/8 NPT 1/8 NPT 1/4 NPT 1/8 NPT 0.01 0.3 R412011189
8x 3/8 NPT 1/8 NPT 1/4 NPT 1/8 NPT 0.01 0.3 R412011190

EMERSON.



AVENTICS MS01 R5ISzh1y B Y518 BE 6

2024-02-23
A%
4,;
\ [
)
|
8.7 14
|
mn -
- B 5
NI ﬁ'
- g
s 0]
~|© E: e
o [e0]
A 72\ P
b
R\
|
45
D =¥ (& B )
M12 i Sk 1 : 24V DC a2 - #HES24 VDC, S1 (BITEN) , MA100 mA A3 : OV #&S4 : WH{ES 24 VDC, S2 () , |A100 mA &5 : FE
,/
&

EMERSON.



AVENTICS MS01 R3IRzhfu &Y 215 Biar 7
2024-02-23

MS01%5%l

ISO 15407-1
EZVEHPS
cH®

G 1/4

G 1/8

BHzES T H TE A RIHE EAR
S R2 BE KAV BE KAV
[mm] [mm]

1x G 1/4 G1/8 @ 6x1 G1/8 0.01 0.3 R412003461
2x G 1/4 G1/8 @ 6x1 G1/8 0.01 0.3 R412003462
3x G 1/4 G 1/8 @ 6x1 G1/8 0.01 0.3 R412003463
4x G 1/4 G1/8 @ 6x1 G1/8 0.01 0.3 R412003464
5x G1/4 G1/8 @ 6x1 G1/8 0.01 0.3 R412003465
6x G 1/4 G 1/8 @ 6x1 G1/8 0.01 0.3 R412003466
7x G 1/4 G1/8 @ 6x1 G1/8 0.01 0.3 R412011212
8x G1/4 G1/8 @ 6x1 G1/8 0.01 0.3 R412011213

EMERSON.



AVENTICS MS01 R5ISzh1y B Y518 BE 8
2024-02-23

32 9 4
D) A
\ . @55
B\ _ ﬁ}
\\ N = 1
@ _ [
65 [\, K )| &
L rhl
?_’ 5 5 &'ﬂ" :—' 5.1 ‘
0 | i F— i iy 0
' el L N Gla ;
00 o |9LL°* |
— O poeR ‘ O PoweR_J
(G =r =%
1 M \[= - an 1
(| : {1V
=1=‘ | E'= | %l—jﬂl 2|6
5- ! | 1T e
‘ | |

D =FRE(BERS)
M12 A4k A1 : 24V DC 2 © #H{ES24 V DC, S1 (IB4TEH) , &A100 mA A3 : 0V filM4 - #HES 24V DC, S2 (B A) , HA100 mA fiksa5 : FE

&
EMERSON.



AVENTICS MS01 R3IRzhfu &Y 215 Biar 9
2024-02-23

MS01%5%l

ISO 15407-1
EZVEHPS
cH®

G 3/8

G 1/8

BHzES T H TE A RIHE EAR
S R2 BE KAV BE KAV
[mm] [mm]

1x G 3/8 G1/8 G1/4 G1/8 0.01 0.3 R412011191
2x G 3/8 G1/8 G1/4 G1/8 0.01 0.3 R412011192
3x G 3/8 G 1/8 G 1/4 G1/8 0.01 0.3 R412011193
4x G 3/8 G1/8 G 1/4 G1/8 0.01 0.3 R412011194
5x G 3/8 G1/8 G1/4 G1/8 0.01 0.3 R412011195
6x G 3/8 G 1/8 G 1/4 G1/8 0.01 0.3 R412011196
7x G 3/8 G1/8 G 1/4 G1/8 0.01 0.3 R412011197
8x G 3/8 G1/8 G1/4 G1/8 0.01 0.3 R412011198
1x 3/8 NPT 1/8 NPT 1/4 NPT 1/8 NPT 0.01 0.3 R412011199
2x 3/8 NPT 1/8 NPT 1/4 NPT 1/8 NPT 0.01 0.3 R412011200
3x 3/8 NPT 1/8 NPT 1/4 NPT 1/8 NPT 0.01 0.3 R412011201
4x 3/8 NPT 1/8 NPT 1/4 NPT 1/8 NPT 0.01 0.3 R412011202
5x 3/8 NPT 1/8 NPT 1/4 NPT 1/8 NPT 0.01 0.3 R412011203
6x 3/8 NPT 1/8 NPT 1/4 NPT 1/8 NPT 0.01 0.3 R412011204
7x 3/8 NPT 1/8 NPT 1/4 NPT 1/8 NPT 0.01 0.3 R412011205
8x 3/8 NPT 1/8 NPT 1/4 NPT 1/8 NPT 0.01 0.3 R412011206

EMERSON.



AVENTICS MS01 R5ISzh1y B Y518 BE 10

2024-02-23
A%
4,;
\ [
)
|
8.7 14
|
mn -
- B 5
NI ﬁ'
- g
s 0]
~|© E: e
o [e0]
A 72\ P
b
R\
|
45
D =¥ (& B )
M12 i Sk 1 : 24V DC a2 - #HES24 VDC, S1 (BITEN) , MA100 mA A3 : OV #&S4 : WH{ES 24 VDC, S2 () , |A100 mA &5 : FE
,/
&

EMERSON.



AVENTICS MS01 R3IRzhfu &Y 215 Biar 11
2024-02-23

THBERARE, £5| MSO01

ISO 15407-1
EZVEHPS
M12
CEIAIE

5-#t

AIEERNEER &N AHEERNBERE &N
[mm] [mm]
0.01 0.3 R412011545
FAREFS
A
I ‘
]
[}
‘ 1
1
1 Ap<_ ‘
1 g/ <__
‘ ! o - :
OEL 5
(]
O,
<+—o '
P1
1
-lL - 1 _ - -
= 3 4 5

EMERSON.



AVENTICS MS01 R5ISzh1y B Y518 BE 12
2024-02-23

2x—{U =18 @i, %% CDO1-PA

ISO 15407-1

EINS P

EN 175301-803, CH

EiRiEO

Bf

FELABS

REBFREDIN 1SO 15407-1 %13 K 152 11 4R
REBFREDIN 1SO 15407-1 %13 Ky #5211 4R

e MEBE S e
B IEFF 24 SEBEY 5763960220
Mk
‘ 64,4 ,
| ‘ | | | | I | ‘
ﬁ L
. i . o 0
Pl | © X
” |
S B P -t B
|
\ |
L‘Lf 1
T \
. 24 M4
- 100,8 . 19
2) . 265
m»
N
=

3)V \ MA =25 +0.5 Nm

1) R REEE2) RieMBHH 3) FhEFRE

EMERSON.



AVENTICS MS01 R5ISzh1y B Y518 BE 13
2024-02-23

—fuREHRE A, &5 CDO1-PA

1010 I/min

B E

ISO 15407-1

EINS P

EN 175301-803, CH

EiREO

Bf

FELABS

REBFREDIN 1SO 15407-1 %13 Ky 52 11 4R
REBFREDIN 1SO 15407-1 %13 Ky 52 11 4R

HEHE %S L/p SR
24V SEBHY 5763600220
A
32,2 .~ 8 -
;LL
| ‘ | | ||
ﬂ —
, i . . -
= | @ N
[{e) |
|
- — f—-—-——-1 -1 B
|
| | A |
I |
I -
. 24 M4
» 100,8 ) 19
2) 26,5
1)
" \
o 1
=

3)/ \MA =2,5+0.5Nm

1) R REEH2) R MBS R 3) FHREKE

EMERSON.



AVENTICS MS01 R5ISzh1y B Y518 BE 14
2024-02-23

i AR

ISO 15407-1
MS01-AL
PIERLL
F&LABS

EH/Z=S #EO AQ ERZE=SERE X ERESERE
BHSTR K
G 3/8 G 1/8 G1/8 [k 1 R412009674
3/8-18 NPTF 1/8 NPT 1/8-27 NPTF @[k 1 R412009781
A
1) R1)
a4 / 90
13,9 24 32 19,5
<
s A lmn
To} © @ (l |
S 2 . / eq}e o \
0| O
< A SF N FT |
@ ,_D—m - |
¥ R 7.4 ‘—E—m 7 e e L ‘
AV y\/| ‘ &
30,5 21.3. |113.6
55,5 38,9 39,2
o) 3/R2)
|
| 0
' <
! Q
! A N
| I 1o}
J e Vo SIha
\' | /
(|
22 22
25,1
37 40,2
1) BHRED

D =T RgR(REKRS)
R1) BESMARIR /FERRZESRED (&K [[1] bar]) R2)ZBHIZESHS

EMERSON.



AVENTICS MS01 R3IRzhfu &Y 215 Biar 15

2024-02-23

i AR

ISO 15407-1
MS01-PA
PIERLL
F&LABS

G 3/8

E&Z=S #O AQ ERZERERE IR ERESERE
BHESR S
G 3/8 G1/8 G1/8 o= 1 8985121502
A%
1
36 ) 102
5 7,8 24 20
N
- 0 ~ M
= )
Ve @§ S . )
N 2
I 2
+
5 0 90\
4705 &
R1)
0
Yo}
Q
[}
[32]
N..
<
1) RREHD

D =R (BERS)

R1) SESAHAER FARSZSEEO (&K [[1] bar]) R2)BHZESHS

EMERSON.



AVENTICS MS01 R5ISzh1y B Y518 BE 16
2024-02-23

JEEAR

ISO 15407-1

EEESEO MO ERENE EZE i

i BHSR BES S
C1 G1/4 Ul 1 1825504023
C1 @ 10x1 U 1 1825504025
Cc2 G 1/4 M5 M5 U 1 1825504026
C3 G1/4 BT 1 1825504029
C4 G1/4 M5 M5 LN 1 1825504030

M5 (12)

M5 (14)

n a x 0,3
2 108 94
3 135 121
4 162 148

EMERSON.



AVENTICS MS01 R3IRzhfu &Y 215 Biar

17
2024-02-23

n =27*(2+n)

=40+27*n

EMERSON.



AVENTICS MS01 R5ISzh1y B Y518 BE 18
2024-02-23

JEAR, #R 24N

ISO 15407-1
F&LABS

EHz=S &0 1o

@ 6x1 MNE 1 8985121122

EMERSON.



AVENTICS MS01 R5ISzh1y B Y518 BE 19
2024-02-23

gk
| A
Ip]
D LE# o0
© g |/ | v
o™ IS
Q e <> - 2\a)
a) § U
12,3
47
22
9,
1. 1.9
o, 97,4x13
. ] .
10
g /]
é_ ©
< i
‘ ©
}ﬁ Or— 8 B 3| B S
2 || ©
_@7 P \i
== (
‘ I
\
| | l 1 A
L ks )
== | ® =
o ! !
19 _ Q _M5
_ 27025 _ 20
- 1.2

a ) RIEEORIRGIEN

EMERSON.



AVENTICS MS01 R3IRzhfu &Y 215 Biar 20
2024-02-23

iRk, AR
ISO 15407-1
ML

EHZES #£O0 A0 5 t EREREE BHS7R ERESERE BHSR R
G 3/8 G 3/8 G 1/8 G 1/8 1825504031
A&
155, 31 95 .
2xG1/8 8 3xG3/8 4.5
A 5 pE Y
—\f
1 \ 'y
Nn
I 1 <| N
(@)]
I @ i
=, — Y )
@ v \ T

38,2

27 1

A
Y

o}

2 108 94
3 135 121
4 162 148

EMERSON.



AVENTICS MS01 R5ISzh1y B Y518 BE 21
2024-02-23

n =27%2+n) | =40+27*n

EMERSON.



AVENTICS MS01 R3IRzhfu &Y 215 Biar

22
2024-02-23

B AR
ISO 15407-1

MS01-PA
CDO01-PA

AFEEZ 1. 3. 5HPER R412015167

b0k

:
i

EMERSON.



AVENTICS MS01 R3IRzhfu &Y 215 Biar 23

2024-02-23

b A
ISO 15407-1
MSO01-AL
CDO01-PA

el LR

AFEEZ 1. 3. 5HPER 1820220039

ATF#EO12514 1820220040

I

| £|, ‘cF !

/ :l: ( |
| [ T G ( |

| | '."|" |__\.|_p I |

II H [ ' M | - I|I II

| S oehEE Ml e I_‘“ gl " P !
I : - —| T

I _/a |J.".‘L‘.J_L| s e o :I: et ) |

EMERSON.



AVENTICS MS01 R3IRzhfu &Y 215 Biar 24
2024-02-23

B fz4d@k, &5 CON-RD

EZVS P

EZIEPD

M12x1

M12x1

5-&t

5-&t
1 1
2 2
3 3
4 4
5 5

#ME B BER B B 88  ®Bg  as  Bg  ag  Bf  §4%

BE [A] HEE O EER O EE OEE O EE O EE O KE EfOQ0 BE
1,68 1,8 1, mBE 2,XE 28 2, KBE [m] [mm]  [mm?
SR SR

36V 4| BRWE| BEE| M12x1 | ARIB | BIBHE | M12x1 | ARB | 0.3 6| 034 25 80 8946054662
DC/ Thae % %

30V

AC

36V 4| BRI | BEIE| M121 | AR | B | M12x1 | AGB | 05 6| 034 25 80 8946054672
DC/ Thee 3k %

30V

AC

36V 4| BER| BHIE| M2 | ABB | BEE | M12x1 | AR 1 6| 034 25 80 8946054682
DC/ Ihee 3k X

30V

AC

36V 4| BRER| BHIE| M2 | ABB | BB | M12x1 | AR 2 6| 034 25 80 8946054692
DC/ Thee 3k 3k

30V

AC

36V 4| BER| BEHIE| M2 | ABB | BEE | M12x1 | AR 5 6| 034 25 80 8946054702
DC/ Thee % %

30V

AC

36V 4| BEW| BHIE| M2 | ABB | BEIE | M12x1 | AR 10 6| 034 25 80 8946054712
DC/ Ihee 3k X

30V

AC

bk
» 45,5 L N 43 .
& 158 _ 0 12 &
= =

%]
@13,5

L=sB%KE

EMERSON.



AVENTICS MS01 R5ISzh1y B Y518 BE 25
2024-02-23

8946054662, 8946054672, 8946054682, 8946054692, 8946054702, 8946054712
R E R

EMERSON.



AVENTICS MS01 R5ISzh1y B Y518 BE 26
2024-02-23

Eh%

FHEHEE FHEEE FREES FHEHEE
TEE &0 TEE &K TEE & TEE &K
[bar] [bar] [bar] [bar]
BEREXNELR 28 a6 0 4 0 4 R412003960
BREXELX 28 g6 0 10 0 10 3530200300

EMERSON.



AVENTICS MS01 R5ISzh1y B Y518 BE 27

2024-02-23
R~ #mm
l
(e 0)
N _
(]
l
_. 96
|
|
o0}
v
© f
; [
e8]
0|
(o]
V f
s

EMERSON.



AVENTICS MS01 R5ISzh1y B Y518 BE 28
2024-02-23

EERE , FPIREE4

G HEsmE
[
G3/8 25 1823462030
G1/8 25 1823462028
HA
SW1
Ll
gl
L1
H
wE-= ¥OG DE H L1 SW1
1823462028 G1/8 14 8 3 5
1823462029 G1/4 18 12 3 6
1823462030 G 3/8 22 12 3 8
1823462031 G1/2 26 14 4 10
1823462032 G 3/4 32 16 4 12
1823462033 G1 39 16 5 17

EMERSON.



nh elisen: T 12

Efficient pneumatic solutions, our program:
cylinders and drives, valves and valve systems,
air supply management

Visit us: Emerson.com/Aventics
Your local contact: Emerson.com/contactus

Q, Emerson.com
ﬁ Facebook.com/EmersonAutomationSolutions
LinkedIn.com/company/Emerson-Automation-Solutions

pu—

"/ Twitter.com/EMR_Automation

An example configuration is depicted on the title page. The delivered product may thus vary from that in the illustration. Subject to change. This
Document, as well as the data, specifications and other information set forth in it, are the exclusive property of AVENTICS GmbH. It may not be
reproduced or given to third parties without its consent. Only use the AVENTICS products shown in industrial applications. Read the product
documentation completely and carefully before using the product. Observe the applicable regulations and laws of the respective country. When
integrating the product into applications, note the system manufacturer’s specifications for safe use of the product. The data specified only serve
todescribe the product. No statements concerning a certain condition or suitability for a certain application can be derived from our information
The information given does not release the user from the obligation of own judgment and verification. It must be remembered that the products
are subject to a natural process of wear and aging.

The Emerson logo is a trademark and service mark of Emerson Electric Co. Brand logotype are registered trademarks of one of the Emerson
family of companies. All other marks are the property of their respective owners. © 2019 Emerson Electric Co. All rights reserved.

EMERSON

CONSIDER IT SOLVED




